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MATHCEMATICS By Pradeep Sir

Q. 1) Five years ago, the total of the ages of

father and son was 60 years. Age of son is 25%

5&"8" (P +53 = 6o age of his father. Then the present age of the
Proyent ( £15) < Fo father is

ute a¥ gd far 3 g7 it 3mg &1 9T 60 T €

I A g3 Bt g frar amg #1 25% wfewra @1 fan #t
o & qAHT ST FTE ?
oo (A) 48 yr/ T (B) 51 yr/ T

.f‘

o ((€) 56 yr/) (D) 61 yr/ T
“V»&
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X - Yx+i1=o
CIL +):l%
I+.L~ q_
D el
Y m
X119y =

Q. 2) If x2 — 4x + 1 = 0 then find the value of

x2 4+ x7 —194x° — 194x3

UG 22 —ax+ 1 =08 A x° + 27 — 19425 —
194x3 mmﬁm%mm%#z/

(A) 4 xs(x"-(mo - x3( ! -134)

(- 5)- (- L)

(C) 1
(D) -1 KX-J{) =0 () - -4
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/‘/cf“”"‘:?\xoldfw(] t Aych i
636 - HXI - | x G\f

D36 = Yx -6y

Y= 400

Q. 32) A librarian purchased 60 story books for
his library. But he found that he could get 4
extra books by spending Rs 336 more and
then the overall average price per book would
be reduced by Re 1. The previous average

U a1 Y PIad & T 60 HETHt
B TP @edl ¢| dAfbd IQ §Id Bl ¢ b
gf¢ 98 ¥ 336 SR Wd Hdl ¢ dl 98 4 3ffaad
BT BY_APpdl ¢ AR AT 1 W ufa
YN P! GHY Hd PIAT 1 $H 8 ST
TS [P DI Ugd B 39d PIAd 93]
(A) 84 —
(B) ¥ 83

(C 8
© 7100
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bg

Q. 5) Two arcs o__f___t_wo different circles are the
equal length. If these arcs subtend angle 45°
and _6__0° at the centre of the circle find the ratio

of the radii of the two cricles.

3 firs gt ¥ 910 WA §1 9K 910 9 F F
UR HHR: 45° TYT 60° B HIV §4Td & ol &f gl
gl @ BAsarsii &1 91+ 319 S|

(B) 5:4

(C) 6:7 (D) None
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Q. 6) What is the ratio between the number of

students studying agriculture in year 2001 and

2002 respectively.
a¥ 2001 3R 9 2002 # FY A rwmg=Rd B!

B! I3l & dg HAY: U T 8?2
(A) 11:12
(B) 4:3
(C) 12:11
(D) 8:9
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Q. 7) The number of students studying in
science has increased/decreased by what
percent in comparison to year 2001 (upto the

nearest whole no.)

g | regg=vd Sl ot =T H# 9 2001 Bt
qa-1 | feaa ufawra &t gfs $4t 88 (Rdean
3P QUITP dF) ?

(A) 27% increase / 27% gi&

(B) 27% decrease / 27% Al
(C) 21% increase / 21% i

(D) 21% decrease / 21% Al
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D =2 S A
|

N Q. 8) A thief saw a policeman from distance of 200

| 5 m and started running. Thief could run 1 km in 12

) Km [ K minutes & policeman could run 1 km in 10

| Mmm 10 Ming mi’n\u_tes. Find the distance thief had run before
: being caught?

F's - 43 U IR U@ F{urdt &1 200 Hiex it g & @ @

3R YT = FR a1 81 IR 1 fult. 12 fre @

Arzar € ok Ryurdt 1 fF. 10 e d =1 2, @
ot g o A urd R fraht gl @a e g@T Erm 2

] 00
2 et (a) 1.1 ke f0TR (8) 1.2 ken/ 521

(©) 1.0 km/f&¥H) (D) 0.72 km/fFit
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Q. 9) AABC, the medians AD, BE and CF at G.

then whichof the fol- lowing is correct ?
AABC ® W& AD, BE 3R CF 3@¥fy 6 WX

gt e, AP A AT A ¥

(A) AD + BE + CF > (AB + BC + AC)
“AB) 2(AD + BE + CF) > (AB + BC + AC)
(C) 3 (AD + BE + CF) > 4(AB + BC + AQ)

\ (D) 4(AD + BE + CF) >%AB + BC + AC))

2
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Q. 10) A person was standing on a road near a mall.
He was 1425 m away from the mall and able to see
the top of the mall from the road in such a way
that the top of a tree, which is in between him and
the mall, was exactly in line of sight with the top of
the mall. The tree height is T0 m and it is 30 m
away from him. How tall (in m)’?{he mall?

COELL

(C) 425 (D) 525
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Q. 11) A number 'x’ is completely divisible by
9 but leaves remainder 3 when divided by 6, 5,
7 and 8. Find the sum of digits of 'x’' ?

A @ x gAaH B ol 5, 6, 7 3R 8 |
R #33 W yd® awd & 3 Auee e 8
WRg9d Ruthorg f5d 91 ® 3¢ Avea T8
YEdl | x & DI STANT TR ?

(A) 21 X (B) 22

AV
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x4 = L6 om

Q. 12) If the area of a triangle is 1176 cm? and
ratio of base to altitude is 3:4, then the

altitude of the triangle is:

afe ta By &1 dawd 1176 TP R MUR
3R FHATS BT U 3: 4 8, a Y ot S8
gas

(A) 42 cm

(B) 52 cm

(C) 54 cm
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Q. 13) How many times do the keys of a
typewriter have to be pressed in order to write
numbers from 121 to 1346?

o ferfus &1 121 | 1346 dF I "W 13U
HY & fag feast @t gart usit 2

(A) 4020

(B) 4020

(C) 4016

(D) None of these
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Q. 14) Three friends A, B and C invested

A, B c money in a business in the ratio 5: 7: 6. After
six months C withdraw half of his money. If A
5 7 : gx6-y Invested, 40,000 in the business and total

XIQ X  3X6 +18 profit is 33,000 at the end of the year then
e S — —what is the share of C in the business?

%o . 8y - A SRTA BAUTCA TS AUR | 5: 7:6 B

o 11y - o UTd # Y= ST 6 q1¢ C 7 39AT ATYT
¢ Aora forar afe A 3 AR 7 40000 39
B ity A §1 9T 94 & 3 H P @TH 33000 FUL
T ——x9 g1 df C BT YT FTd BIfoIU ?
S5 (A) 10,000
<) 9000 (B) 9,000°
s (C) 12,000

(D) 18,000
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Q. 15) In an examination, 92% of the students
passed and 480 students failed. If so, how
many students appeared in the examination ?
TP Wl # 92% ST IVl §U 3R 480 BT
il g1 39 WRia ¥ fa o wid« g
. —

(A) 5000

(B) 6200

@ 6D

(D) 5800
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Q. 16) The probability of getting at least one

tail in 4 throws of a coin is-

U e o IR IOl § $H °§ $H UH UC
I B wilkPar &

(A) =
(B) —

©)

(D) None of these/ Hﬁ | ﬁg Té:f
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Q. 17) By selling 45 oranges for 40 a man loss
[l SP — 4o 20%. How many did he sell for 24 to earn 20%.

> ? 40 H 45 Td¥ 994 W TP ATSHT Bl 20% Bt
ET&- e eI g1 20% A PR P few z 24 4 3R
T e w A TR
80
@

130 (B) 11
'V (C) 14
S xS & (D) 19
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Q. 18) The total number of students in a

P G school was 660. The ratio of number of boys
and girls was 13: 9. After some days, 30 girls
290613 - 330 joined the school and some boys left. The new
- _j ratio of number of boys and girls became 6: 5.
Find the number of boys who left the school.
5 ’ ferrerg & ﬁaﬁ%aﬁMozﬂla@i
3R ! @ aﬂa{amw:gzmg
S . q1E_30 faemera & wawr
360 ” qSd 3R P WA BT AU 6: 5
3% gu;m dl gard & fea asd A fagey sis
. —G— 7 I
390-% _ ¢ i o

| B S @B =
(»)
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loy | By

3130 | I5¢5 t1S6sxs

'S_GS'( | +5°)

JSCsxG
9 390

Q. 19) The simple interest on a sum of money
for 10 year is 3130. If the principal becomes 5
times after 5 years, then what will be the total
interest (in) obtained after 10 years?

TS RN G 10 I§ BT ATYRT AT 23130 &
gfe 5 qd A YEUA S YA ST ST 8, A 10 &
q1¢ o fha-T T (3 H) YT 811 2

(A) 6260 (B) 5650

(C) 7825
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(- 2l
. 20 2 2 3 .1 =7
G ey T
MR NO RN
- A

|

23
(C) 1—
)15, TS
(D) None of these < <
L
L‘
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Q. 21) Find the range for the fallowing

observation.

fAafafad vamon &1 w319 i)

(A) 80
(B) 70
(C) 90
(D) 65
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Q. 22) Solve it cosB (1- tanB) + sinBd (1 - cotd)
YA BY: cosod (1 - tanB) + sinB(1 - cotb)
(A) sinB + cosf

(B) sin® - cos@ Ce5@ Sm.co +Smm( e
“Sive

Cota= =22 (D) tan® + cotb 9 '//G'*S/ZQ C)‘S/Q

tame - Sino

Smco
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Q. 23) A, B and C can complete a work in 20, 24
6- A - X002 and 30 days respectively. All three of them starts
together but after 4 days A leaves the job and B
left the job 6 days before the work was completed.
C completed the remaining work alone. In how
many days was the total work completed?

4°C7 200 Go. . A BTY C 58 B4 ) U 20, 24 71 30 A &
A /0 W1 FR AP g1 a1 A e a1 B Ry fFam
-_ ;z_éu & UYTd A 3 B Bl BIS dyT B A

9¢ d B ad
+ 3o P d | pd

-8 - Qyyp

|
g
i




